log [ N-Wa

log =log +0.16
Mog =0,5[log +og o] log =log - 0.09
logg =05][log +log o] log =log +1.13

Adaptation: A =525

t=0.007 A; =525

o —— s D |
¢ 00 ) 1
/oy \\ ¢ 1
4 1 \ . 1
=ik o 1 \ s 1
o 1 1 s 1
o 1 1 “ 1
’
BRI R A Y
24 ) uzs 55 g \
z Pl A V
400 500Ad/nm 600 700 Ac/nm 400




log[ o ]-log log =log +0.16
log =0,5[log +log o] log =log - 0.09
log =05][log +log o] log =log +1.13

3] Threshold: t=0.007 Adaptation: A =525
Ay =525
2-r 1 1 1 1
R : ; s
14 1 1 Py
. 1 “r 1 -~
04 . e ' .
& 7 1 P
- 1 H 4
_1+ ; 1 : 1 9
L 1 1 1 1
21 475 's5 's7n -
400 500 Ad/nm 600 700 Ac/nm 400




log [ 3 1 log =log -0.05
log =05][log +log o] log =log +0.12
log =05][log +log o] log =log -0.13

Adaptation: A =575

ts=0.007 A; =575

P

0
Ko 1 1

+ 26 \ s 1
4 1 1 \‘ 1

=il “ \ 1
Y A 1 1 'y 1
o 1 ‘ “ 1

hi @A 1 1 1
" 1 1 1 “ 1

—24 1, 1 Ieo= 1
b las 525 's?s A

400 500 Aa/nm 600 700 \c/nm 400




log[ o ]-log log =log -0.05
{Iog =0,5[log +log o] log =log +0.12
log =05][log +log o] log =log -0.13
3]  Threshold: t=0.007 Adaptation: A =575
A; =575
24
N ®
14 1 1 o< = ~ N\
. ' « &
0d ' e _%ed ' S
S P > ' 1 r3
e v v -
e 1 1 1 : 93
1 1 1 '
= d 475 505> -
400 500 Ad/nm 600 700 Ac/nm 400




log [ 3 1 log =log -0.89
log =05][log +log o] log =log -0.72
log =05][log +log o] log =log -0.13

Adaptation: A =475

ts=0.007 A; =475

P

0
Ko 1 1

+ 26 \ s 1
4 1 1 \‘ 1

=il “ \ 1
Y A 1 1 'y 1
o 1 ‘ “ 1

hi @A 1 1 1
" 1 1 1 “ 1

—24 1, 1 Ieo= 1
b las 525 's?s A

400 500 Aa/nm 600 700 \c/nm 400




[
i

o ]-log log =log -0.89
=0,5[log +log o] log =log -0.72

log =05][log +log o] log =log -0.13
5] Threshold: t=0.007 Adaptation: A =475
Ay =475
24
1 1 1 1
r 1 1 1 Cew
14 1 1 o< = ~ N\
S : 4 )
0d ' e _%ed ' S
S P > ' 1 r3
PR ] v v 1 v
s 1 1 1 1 93
1 1 1 1
= d 475 505> -
400 500 Ad/nm 600 700 Ac/nm 400




log [ 3 1 log =log -0.16
log =05][log +log o] log =log +0.22
log =05][log +log o] log =log -0.76

Adaptation: A =600

ts=0.007 A; =600

Y S T

,
1 Net

1, 1

—1d. 1
1

b ’

0
. 1
. 1
1 1
\ 1
1 s 1
' 1
1 1
1 1
1 1

- 1
'Z'I' T LN

5:5

400 500 Aa/nm 600 700 \c/nm 400




log[ o ]-log log =log -0.16
Mog =05 [log +og o] log =log +0.22

log =05([loc +log o] log =log -0.76
Threshold: t=0.007 Adaptation: A =600

1 s =600

24

1 1

1 1

14 1 1 1
1 =

04 .

:
o \
1
et 1al I5gs I
400 500 Aa/nm 600 7

O = < im = = ==

0Ac/nm 400




—1jlog[ / ']J|-1Jlog[ / o]llog =log +0.16
(Vo<i') (o>=') log =log -0.09
—1jlog[ /- ]| -1jlog[ o/ ]|log =log . +1.13
(A; <525nm) Q;->=525nm)Adaptation: A =525
t=0.007 A; =525
@ ] a ] ] »
= .
b" 1 e 1 TN
1 2l 1 ins 1 ol 'y
PR 1 [ ' " “
N
1 1 1 1 s’
1 1 1 1
1 1 1 1
21 475 525 !'s75 0
400 sboxd/nm 500 700 Ac/nm 400




1.0log['o/ "] 1.0log[ o/ Jlog =log +0.16

(Vo<ih) (o>=,) log =log -0.09
,H700 jog =log  +1.13
650¢ 1 Adaptation: A =525
1w 609" " t=0.007 A; =525
’, 1
540~ ? 525¢
T L.0Jlog[" k']
g (U:=No)
- S 1.0llog o |
»
21 - U No.
-3 e
1 0 3




—1llog] / ']|-1log[ / o]llog =log -0.05
(“lo<)1) (‘o>=1) log’' =log +0.12
—1|log[ /- ]| —1Jlog[ o/ - ]J|log =log . -0.13
(A; <525nm) Q;->=525nm)Adaptation: A =575
t=0.007 A; =575
© 1 ] r 1 <
L IR
1 2o RS o “
+ 1. “ 1 ’ .
-
-14 ,’:' : : ~“I}' A
. 1 1 1 1 'y
- 1 1 1 1 R
T 1 1 1 1
1 1 1 1
21 475 525 !'s75 0
400 SGoAinm 660 700 Ac/nm 400




1.0log[''o/ "] 1.0log[ o/ ]Jlog =log -0.05
{( o< ) (=,) 'log =log +0.12

5% Jog =log -0.13
650¢ 1 Adaptation: A =575
, | t=0.007 A; =575

o e
% 1
559’ ? 525¢c
" i
IR i 1.0Jlog[ o/ ]|
\\ 1 (55=\\F)
L4 o
RN 1.0llog[ o/ |
»
4 408 (U>=11)
-3 . + + * * *
= 0 1 3 4 5




—1llog] / ']|-1log[ / o]llog =log -0.89
(Vo<i') (o>=') log =log -0.72
—1|log[ /- ]| —1Jlog[ o/ - ]|log =log . -0.13

(A; <525nm) Q;->=525nm)Adaptation: A =475
t=0.007 A, =475
@ - 1 1 ]
T R d 1 1 ,' “
L 1 v, & * Rt
1 1 ~1 1 .
=1 1 1 e 1 4
1 1 1. 1 "
1 1 1 "4 1
T 1 1 1 AR .1
1 1 1 ~ ;’
2T 475 525 !'s75 U

400 500 Aa/nm 500 700 \c/nm 400




1.0log[' o/ "] 1.0log[ o/ Jlog =log -0.89

(Vo<ih) (o>=,) log =log -0.72
L1710 og =log  -0.13
650¢ 1 Adaptation: A =475
- ot 1=0.007 A; =475
’, 1
55{0’ ? 525¢c
b 1
°T son| 1.0jlog[*s1 /]
< ! (U:=No)
- B RN 1.0llog o |
»
21 - U No.
=3 . + + + + +
= 0 3




—1llog] / ']J|-1log[ / ©]llog =log -0.16
(“lo<)1) (‘o>=1) log' =log +0.22
—1|log[ /- ]| —1Jlog[ o/ - ]|log =log . -0.76

(A; <525nm) Q;->=525nm)Adaptation: A =600
t=0.007 A, =600
- : ! 37 7 Pk
bt e
| vl Y
’1 1 1 1 Y
- 1 1 1 1 A}
T 1 1 1 1 !
1 1 1 1
21 475 525 !'s75 0

400 sboxd/nm 500 700 \c/nm 400




1.0log[ /] 1.0log[ o/ "]log - =log . - 0.16
(Yo<i) (‘o>=,) log =log . +0.22
L% % Jog =log -0.76
50% 1 Adaptation: A =600
- SO 1=0.007 A; =600
g 1
5502 # 525¢
T % ] 1.0llog o/ 1|
500% ! A0 iely
\\ 1 (55=\\F)
N 1
- ORL 1.0llog[" o\ |
»
4 408 (U>=11)
=3 . + + + + +
= 0 1 3 4 5




